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Identify the axis of symmetry for the graph of each function.
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X=0

3. h(x)=(x+5) X=-5

or each function, A) determine if

the graph op'xhs up or down, B) axis of symmetry, C) vertex, D) graph.

4, f(x)=-x*-2x-8 5. g(x)=x*-3x-2 6. h(x)=4x~x* -1
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Find the minimtlm or maximum for each function. The‘; state the domain and range. ) L e
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Solve each problem.

10. The path of a soccer ball is modeled by the
function A(x)=-0.005x>+0.25x , where A is the
1eighf in mefZrs and xis the horizontal distance
that the ball travels in meters. What is the t
ght that the ball reaches?

11. The ﬂily Tanpera‘rure in Death Valley, CA ,in
2003 cag be modeled by

T(d)=-0.00184> +0.657d + 50.95 , where T is
temperature in degrees F and d is the day of the
year. What was the maximum temperature in 2003
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